]
]

C—
C—

GRATING SUPPORT

]

]

]
]
]
]
]
]
]

SECTION A-A

_W—T:

NOTE: INSTALL DISK WTH TORQUE T = 6 FT LBS
DETAIL X

]

]

]

]

]

]

(-

(-



AutoCAD SHX Text
GRATING CROSS ROD

AutoCAD SHX Text
SECTION A-A

AutoCAD SHX Text
%%UGRATING SUPPORT

AutoCAD SHX Text
GRATING PANEL

AutoCAD SHX Text
STRUCTURAL STEEL SUPPORT

AutoCAD SHX Text
GRATING PANEL

AutoCAD SHX Text
HILTI X-FCM-R GRATING DISK WITH  X-ST-M8 SCREW-IN THREADED STUD   

AutoCAD SHX Text
%%uDETAIL X

AutoCAD SHX Text
GRATING PANEL

AutoCAD SHX Text
X-FCM-R GRATING DISK (VARIES DEPENDING ON GRATING DEPTH)

AutoCAD SHX Text
X-ST-M8  SWCREW-IN THREADED STUD

AutoCAD SHX Text
NOTE: INSTALL DISK WITH TORQUE T = 6 FT LBS: INSTALL DISK WITH TORQUE T = 6 FT LBS

AutoCAD SHX Text
X

AutoCAD SHX Text
STEEL SUPPORT SPACING VARIES

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
GRATING DISK SELECTION

AutoCAD SHX Text
GRATING   HEIGHT

AutoCAD SHX Text
MIN.     MAX.

AutoCAD SHX Text
DISK

AutoCAD SHX Text
STAINLESS STEEL

AutoCAD SHX Text
SCREW-IN

AutoCAD SHX Text
THREADED STUD

AutoCAD SHX Text
ITEM NO.

AutoCAD SHX Text
377074

AutoCAD SHX Text
-

AutoCAD SHX Text
-       -

AutoCAD SHX Text
247181

AutoCAD SHX Text
X-FCM-R25/30

AutoCAD SHX Text
1"     

AutoCAD SHX Text
247182

AutoCAD SHX Text
X-FCM-R35/40

AutoCAD SHX Text
1-3/8"   

AutoCAD SHX Text
247183

AutoCAD SHX Text
X-FCM-R45/50

AutoCAD SHX Text
1-3/4"    

AutoCAD SHX Text
247184

AutoCAD SHX Text
X-FCM-R 1-1/4

AutoCAD SHX Text
1-1/4"      

AutoCAD SHX Text
 1-3/16"

AutoCAD SHX Text
 1-9/16"

AutoCAD SHX Text
2"

AutoCAD SHX Text
  1-1/4"

AutoCAD SHX Text
X-ST-M8


]
]

C—
C—

GRATING SUPPORT

]

]

]
]
]
]
]
]
]

SECTION A-A

NOTE: INSTALL DISK WTH TORQUE T = 6 FT LBS
DETAIL X

]

]

]

]

]

]

(-

(-



AutoCAD SHX Text
GRATING CROSS ROD

AutoCAD SHX Text
SECTION A-A

AutoCAD SHX Text
%%UGRATING SUPPORT

AutoCAD SHX Text
GRATING PANEL

AutoCAD SHX Text
GRATING PANEL

AutoCAD SHX Text
HILTI X-FCM-R GRATING DISK WITH  X-ST-M8 SCREW-IN THREADED STUD   

AutoCAD SHX Text
%%uDETAIL X

AutoCAD SHX Text
GRATING PANEL

AutoCAD SHX Text
X-FCM-R GRATING DISK (VARIES DEPENDING ON GRATING DEPTH)

AutoCAD SHX Text
X-ST-M8  SWCEW-IN THREADED STUD

AutoCAD SHX Text
NOTE: INSTALL DISK WITH TORQUE T = 6 FT LBS: INSTALL DISK WITH TORQUE T = 6 FT LBS

AutoCAD SHX Text
X

AutoCAD SHX Text
STEEL SUPPORT SPACING VARIES

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
GRATING DISK SELECTION

AutoCAD SHX Text
GRATING   HEIGHT

AutoCAD SHX Text
MIN.     MAX.

AutoCAD SHX Text
DISK

AutoCAD SHX Text
STAINLESS STEEL

AutoCAD SHX Text
SCREW-IN

AutoCAD SHX Text
THREADED STUD

AutoCAD SHX Text
ITEM NO.

AutoCAD SHX Text
377074

AutoCAD SHX Text
-

AutoCAD SHX Text
-       -

AutoCAD SHX Text
247181

AutoCAD SHX Text
X-FCM-R25/30

AutoCAD SHX Text
1"     

AutoCAD SHX Text
247182

AutoCAD SHX Text
X-FCM-R35/40

AutoCAD SHX Text
1-3/8"   

AutoCAD SHX Text
247183

AutoCAD SHX Text
X-FCM-R45/50

AutoCAD SHX Text
1-3/4"    

AutoCAD SHX Text
247184

AutoCAD SHX Text
X-FCM-R 1-1/4

AutoCAD SHX Text
1-1/4"      

AutoCAD SHX Text
 1-3/16"

AutoCAD SHX Text
 1-9/16"

AutoCAD SHX Text
2"

AutoCAD SHX Text
  1-1/4"

AutoCAD SHX Text
X-ST-M8

AutoCAD SHX Text
STRUCTURAL TUBE SUPPORT


3)_0))

VARIES |

- J J v — J —J  J

HILTI X-FCM-R GRATING DISK WITH
S-BT-GR M8/7 SCREW-IN THREADED STUD

GRATING PANEL

SECTION A-A

X-FCM-R GRATING DISK

e

GRATING CROSS ROD

>< RATNG PAEL (VARIES DEPENDING ON 200" PANEL LENGTH
J CRATNG DEPTH) STEEL SUPPORT SPACING VARIES
GRATING PANEL ) [ ]
I _\ /// \\ § o T A ° o { o o o ol
e :u \ = i
I I \ hd /
/ _ / Y 1 |
STRUCTURAL STEEL SUPPORT o ’ ot o o ol)o o o o
= S-BT-GR M8/7;J/\—/ - — A
= SWCREW-IN > 1/
THREADED STUD

GRATING SUPPORT

NOTE: INSTALL DISK WITH TORQUE T = 6 FT LBS

DETAIL X
GRATING DISK™ SELECTION

GRATING | HEIGHT | STAINLESS STEEL SCREW-IN ITEM NO.

MIN. | MAX. DISK THREADED STUD
- - - S-BT-GR M8/7 377074
1" | 1-3/16"| X-FCM-R25/30 247181
1-1/4" | 1-1/4" | X-FCM-R 1-1/4 247184
1-3/8" |1-9/16"| X-FCM-R35/40 247182
=34 7 X-FCM-R45/50 v 247185

3'-0" PANEL WIDTH




GRATING SUPPORT

] D | |
l_JLl _Ju

SECTION A-A

i

I

NOTE: INSTALL DISK WITH TORQUE T = 6 FT LBS
DETAIL X




==

VARIES

NHILTI X=FCM=R GRATING DISK WITH

X-BT M8-15-6-R POWDER-ACTUATED STUD

GRATING PANEL B
N

| © |

I

)

STRUCTURAL STEEL SUPPORT

L]

GRATING SUPPORT

[ \
v N
\\

L

SECTION A-A

GRATING PANEL

A

X-FCM-R GRATING DISK
(VARIES DEPENDING ON

GRATING DEPTH)

M. 5/16”

X-BT M8—15—6—RJJ/{
POWDER-ACTUATED -7
STUD > 1/4”

NOTE: INSTALL DISK WITH TORQUE T = 6 FT LBS

DETAIL X

GRATING PANEL

GRATING CROSS ROD

20'-0" PANEL LENGTH

STEEL SUPPORT SPACING VARIES
=— /A
A O | O (@) (@) / IO O O (@)
Q ! O O @) O Q O O
= = A
=
<
GRATING DISK SELECTION
GRATING | HEIGHT | STAINLESS STEEL | POWDER ACTUATED
MIN. MAX. DISK STUD
— — — X—BT M8-15-6-R
1 1—1/4” X—FCM—RZS/Y)O
1-3/8" | 1-9/16"| X-FCM-R35/40
1—3/4” 7" X—FCM—R45/50 |




3)_0))

I D S G S s—

VARIES |

—J

HILTI X-FCM-R GRATING DISK WITH

S-BT-GR M8/7 SCREW-IN THREADED STUD

GRATING PANEL
I _\ /

| ® |

L
T

X

STRUCTURAL TUBE SUPPORT/ T

GRATING SUPPORT

MIN, 1/4”

CGRATING PANEL

SECTION A-A

X-FCM-R GRATING DISK
(VARIES DEPENDING ON
GRATING DEPTH)

MIN, 1/4°

S-BT-GR Mﬁ:
SWCREW-IN >1/4

THREADED STUD

NOTE: INSTALL DISK WITH TORQUE T = 6 FT LBS

DETAIL X

GRATING PANEL

A

GRATING CROSS ROD

200" PANEL LENGTH

STEEL SUPPORT SPACING VARIES

3'-0" PANEL WIDTH

— A
IO O [©) [©) [¢] [©) [¢]
|

O o O,/O o o [¢]
— A

GRATING DISK SELECTION

GRATING | HEIGHT | STAINLESS STEEL SCREW-IN ITEM NO.
MIN. | MAX. DISK THREADED STUD

- - - S-BT-GR M8/7 377074

1" | 1-3/16"| X-FCM-R25/30 247181

1-1/4" | 1-1/4" | X-FCM-R 1-1/4 247184

1-3/8" |1-9/16"| X-FCM-R35/40 247182

=34 7 X-FCM-R45/50 v 247185




GRATING SUPPORT

l_l

] D | |
l_JLl _Ju

SECTION A-A

NOTE: INSTALL DISK WITH TORQUE T = 6 FT LBS
DETAIL X




— —
) ) ) S

Q\K\\\\¥___Hwﬂ X=FCM=R GRATING DISK WITH

X-BT M8-15-6-R POWDER-ACTUATED STUD
SECTION A-A

— -

VARIES

GRATING PANEL
GRATING CROSS ROD

X-FCM-R GRATING DISK
>< (VARIES DEPENDING ON

20'-0" PANEL LENGTH
GRATING PANEL GRATING DEPTH)

STEEL SUPPORT SPACING VARIES

=— /A
EEE o

>7' o ! o o o o o o o
1/

X-BT M8-15-6-R -~_ | -~ ——— A

POWDER-ACTUATED

GRATING PANEL J
Fe \ /

I

M. 5/16”

———

STRUCTURAL TUBE SUPPORT

M. 5/16”

STUD > 1 /¥ i
GRATING SUPPORT NOTE: INSTALL DISK WITH TORQUE T = 6 FT LBS =
DETAIL X fjj
GRATING DISK SELECTION
ORATING | HEIGHT | STAINLESS STEEL | POWDER ACTUATED
MIN. | MAX. DISK STUD
- - - X-BT MB-15-6-R
" /8| X-FOM-R25/30
1-3/8" |1-9/16"| X-FCM-R35/40
=34 | 2" | X-FCM-R45/50 '




HILTT X=GCR GRATING FASTENING
SYSTEM ASSEMBLY

40
(1.575")

L
. @I

18 28
7 (0.709") (1.102")

GRATING HEIGHT

FASTENER NOMENCLATURE N (mm)
X—GR 25/30 0.98” — 1.18” (25-30)
X—GR 1 1/4” 1.06” — 1.26” (27-32)

X—GR 35/40 1.38” — 1.57” (35—40)




	CAD_BIM_Typicals_ASSET_DOC_LOC_7608770
	Sheets and Views
	CAD_Details_DWG_for_X-FCM_Grating_Fastening_System_to_Support_Steel_with...-Layout2


	CAD_BIM_Typicals_ASSET_DOC_LOC_7613831
	Sheets and Views
	CAD_Details_DWG_for_X-FCM_Grating_Fastening_System_to_Tube_Steel_with_Hi...-Layout2


	CAD_Details_PDF_for_X-FCM_Grating_Fastening_System_to_Support_Steel_with_Hilti_S-BT_with_Washer_CAD_BIM_Typicals_ASSET_DOC_LOC_7135779
	CAD_Details_PDF_for_X-FCM_Grating_Fastening_System_to_Support_Steel_with_Hilti_X-BT_with_Washer_CAD_BIM_Typicals_ASSET_DOC_LOC_2143077
	CAD_Details_PDF_for_X-FCM_Grating_Fastening_System_to_Support_Steel_with_Hilti_X-BT_without_Washer_CAD_BIM_Typicals_ASSET_DOC_LOC_2143146
	CAD_Details_PDF_for_X-FCM_Grating_Fastening_System_to_Tube_Steel_with_Hilti_S-BT_with_Washer_CAD_BIM_Typicals_ASSET_DOC_LOC_7135783
	CAD_Details_PDF_for_X-FCM_Grating_Fastening_System_to_Tube_Steel_with_Hilti_X-BT_with_Washer_CAD_BIM_Typicals_ASSET_DOC_LOC_2143102
	CAD_Details_PDF_for_X-FCM_Grating_Fastening_System_to_Tube_Steel_with_Hilti_X-BT_without_Washer_CAD_BIM_Typicals_ASSET_DOC_LOC_2143133
	CAD_Details_PDF_for_X-GR_Grating_Fastening_System_Assembly_CAD_BIM_Typicals_ASSET_DOC_LOC_5265780

